R T\ (R RXEs

Inductive Sensor

SEWST - 7

BBST - &% BmtiErs

N TBS M TAEMEE, Bfiae. At KIS

o FARE AN R TR R R S | 2

BLAEMB/ M1 248 11 LB A Rl o 1 74 5 AUk %
HA R AT TI0 e

& &

FiAZH Te shnical Parameter

FREE Supply voltage
FRERE Switching point offset
SR Load current

EBE Pressure drop
THAEER Consumption current
EEEE Return range
ESRE Repeatability precision
FF R Switching frequency
e Output instruction

R PRSP Polarity protection

M E Impulse withstand voltage
I IRIRIR Short circuit protection
HERE Ambient temperature
HERE Ambient humidity
BEHFER Protection degree
ShFEE Sheathing material
EEAR Connection mode

B TR, SR, TMEWNEAR S
AR A FE S A, ACHE, B A R R

10...30/60 VDC 20...250VAC/DC &
<+10% Sr

< 300mA

<25V &

<15mA

1..20%

<3%

300-1500Hz

LED

Yes

1000V/AC 50/60Hz 60s
Yes

-25..+70°C

35...95%

IP 67

RS E

EATE L, W2EES

Sendx | 1



TR Model code:

SEW S T-X XXX XX XXX X (000)

#4775,  Installation method
1 = #A

2 = JEEA

iL5: Type

R12 = FIHZE HfE12

R18 = [EfH Hf#E18

R30 =

[FFR B A230

Hithfs Y Signal

AP = NOPNP CP NO+NC PNP AC = NO 4
AN = NO NPN CN = NO+NC NPN BC = NC Fifkacift
BP = NC PNP AD NO PR Eii  ADC= NO MiZh7s/Eii
BN = NC NPN BD NC PIZk i BDC= NC M£kzs/Hii
R (mm ) Induction distance

S02 =2mm (R12= 2mm #EA )

S04 =4mm (R12= 4mm JEHE N

S05 = 5mm (R18= 5mm A >

S08 =8mm (R18 = 8mm JEH#E A

S10 = 10mm (R30= 10mmiEA

S15 =15mm (R30 = 15mmiEHAD

TAEf R Working voltage

D = 10..30VvDC F = 20...250 VAC

E

10..60VDC K

F4k  Modification number
000 = FR)E ( MIZ2FER:SE
020 = 2m 4% (W BREEETRimmgg)

050 = 5m 8Lk (X7 3R EEFRIR I B in AT )

Sendx

20....250 VAC/DC

R12 B

51

43

91

43

R30 Bk

=0

BBST - &% BmtiErs

=

M30x1.5 /

AF36 5 thick
51.5

12

43

E=g

M30x1.5/

R30 M127%EH: 8%

63

AF36 5 thick

46

,EEB,

\M12x1

M30x1.5/ AF36 5thick

63
- 46 =

-

\M12x1
M30x1.5/ \_AF36 Sthick
R12 M12i%4E2%

63

46

M12x1

AF17 4 thick \M12x1

63

M12x1 \AF17 4thick

"_,_ﬁ“}}

AF17 4 thick \M12x1

n N

46 Mi2x1
\MJ AF17 4thick
R18 MI2ERRS
; 63
| 46
Mi2x1

\M18x1 :\AF24 4thick

63

Wr_j'—"ﬁ

o

46

M12x1

M N

R18 EHHL
51.5
43 .
M18x1/ AF24 4 thick
51.5
8 43
e e e -_]"'_\
J:U
Mi8x1/ AF24_4 thick

L
M18x1 AF24 4thick




